AcousticPro 8KeFinity Series
AcousticallyTransparent EDGEREER®Fixed FrameScreen

USEROGS GUI DE

®

CERTIFIED

Product Descriptio

TheAcousticPro 8K eFinity Seriesis a fixed frame projection screenthiat e s EIl i t e Pr i n
EDGE FREB®technology. The EDGE FREEdesign resembles a flat panel TV display. Hienity
includes a micrdghin bezel trim to further enhance the frame appearance and absorb projector oversk
The screen material inclad is oudSF certifiedAcousticPro 8K which is a reference qualicoustically
transparentront projection materidior speaker placement behind the screen.

In order for theAcousticPro 8Kto maintain its projection qualities and optimum performance, please
refer to the list below for proper maintenance and cleaning.

T Usesoaft bristle brush to spot c¢clean for du
T Dip a soft bristle toothbrwghiine.mi | d soa
T Never rub or apply pressure when cleaning
T Never attempt to use any solutions, c¢hemi
f To avoid damaging the screen, avoid touchi
sharp or abrasive objects.
1. Frameand Edge TrinParts List
Qly 2 pcs Qly 2 pcs
: Main Frame Parts . Edge Trim Parts
item item
vertical frame
Part A. Part D.
% horizontal frame
Part B. Part E. .
% horizontal frame
Part C. ' - Part F. P

ne

100t.

st

n

0422021JA WWW.EpVSCcreens.com U-00225 1



http://www.epvscreens.com/

D:

AN | [

N

F/ /
2. Hardware Parts List
a. M4*4 b. D5*4 C. M4*4 d. D5*4
/[ S
4 7 o
d o oo o & o o
e | ,7 f. h g. @ h.
i K. I m. n.
@ )
0. g. p. r
% Red\,/
Black — > &—
Item Parts List 1200 1350
a. Center JointsM4 (bottom position) 6 6
b. Center JointD5 (top position) 4 4
(o Elbow JointsM4 (bottom position) 8 8
d. Elbow JointsD5 (top position) 4 4
e Top wall brackets 2 2
f. Bottomwall brackets 2 2
g. M4x7 Screws 32 32
h. Spring 64 76
i. Spring Hook 2 2
k. 0 5x50 Wall Screws 6 6
l. Hollow Wall anchors 6 6
m. M4x4 Screws 24 24
n. Angle cover 4 4
0. Center Support Bar 1
p. White gloves 2 2
g. LargeSpring 6 6
r. 0 3mm Long Iron (sides) rod/ Short rod (top/bottom  2/4 2/4
0422021JA WWW.epvscreens.com U-00225



http://www.epvscreens.com/

Frame Assembly
Step 1 Placetheincludedsoft padded EPE spongkeeton aclean areavhere the screen will kessembled.

Step 2 Position the pieces of the frame on EfRE spongé the arrangement shown below

C. B.
—— ",
EPE Sponge ' EPE SPONGE A

e [ ——
B. C.

Step 3: Insertcenterjoint (a/b) connectors int@ne-half of the horizontal frame B/C) and secure with thel4x7
screws M) as shown in the illustration below.

Tip: The center joint(b) with the larger diameter holes should be on to

LN L

f o © o of a) [ o8 &8 \
[ [ | [ |

oo s o — \—I%@ ) —

Step 4. Connect theelbow joints €/d) to the top and bottom sections of the vertical frame. Once inserted, conr,
the vertical section® thehorizontal frame sections. Make sure all holes are in alignment and the frame piece

flush (no gaps). They should form perfect right angles.

Tip: The elbowjoint (d) with the larger diameter holes should be on toj
d. % C.

Step5: Securehe elbow joints by fastening them wittix7 screws §), 4 at each corner.

— i —

0422021JA WWW.EpVSCcreens.com U-00225 3

nect
S are



http://www.epvscreens.com/

Screen Material
Step 6: Put on thewhite gloves(p)

and carefully unroll the screen
materialon a clean surfackom the
roller to the other side as show

below. The back side of the scree

material should be placed upwards.

Step7: Insert therods () through the sleeves according to their corresponding lengths on each edge of the scr,
as siownbelow. The short rods (top/bottom) will overlap to secure a firm grasp in the middle areas.

. 15mm

Step8: Carefully and gently place the assembled frame on top of the screen niattbieatarked areas as show
below. Make sure to not allow the angle edgeha frame to come in direct caat with the screen material to
avoid puncturing it.

*Make sure the frame corners are positiones

in the marked areas of the material.

Center Support Bar
Step 10: Insert theCenter Support Baro) into the

upper top groove on the back of the framéh the
bottom end near the approximate center point of
frame and rotate it in at an angle so that both end

the bar are in alignment with the groove

0422021JA WWW.EpVSCcreens.com U-00225 4

een



http://www.epvscreens.com/

Step9: Hook one end of thepring and secure inside the groove of the frame, ussptirg hook () to attach the

spring to thgrommeth ol e | ocated on the screen material 6s ofut

A =

o) o)

Spring must hook

both overlapping

Iron rod

short rods

Begin by firstattaching the center points on both vertiteftfright) sides stepsl-2. Then the center points on both

horizontal(top/bottom)sides steps 34. Once all center pots have been secured, make sure the screen material jis

still within the marked areas before proceeding to attach the next springs.

Continue attaching the rest of the springs to the matariak following order irstepss-12.

To avoid ripples forming in the material it is imperative that all of the corners are properly wrappead the
edges as illustrated in the check mark diagrams.

Note (after all springs have been attached)
Correct material installation i Corners of the screen materaak properly wrapped around the corner edgéle
frameandmaterial is evenlyensiored and flat, creating nicdy taut surface.

Incorrect material installatio n T Thecorners of the screen matergake not properly wrappesiong the edge of the
frame leaving the material with unbalanced tension and an uneven Tiaisbrrect, detach springs from material at

the corner(s) where material does not lie flat aldregddge of the frame, reposition the material so that it lies fl
and wraps along the edge of the frame, and reattach springs to the material.

Attention: Do not proceed with the Edge Trim installation until making sure there are no ripples in the materia

0422021JA WWW.EpVSCcreens.com U-00225 5

at



http://www.epvscreens.com/

How to avoid getting ripples on the screenos
Solution: Pull and smooth out the material using yband fromthe centeto the cornes, creating a nicely taut

surfaceas shown below

A

Edge Trim Installation

ATTENTION: THE TOP EDGE TRIM PIECE WITH THE LOGO SHOULD BE INSTALLED ON THE TOP.

Step 11: Place the edge trim frame pieces over each end of the frame.

Connect edge trim framsde/f) together using th€enter Joints M4(a) and secure witfour of the M4x4 Screws(m)
as show in Step 1 Repeat for other side.

Once both top and bottom edge trim frames have been connected, attaasttiche(left/right) sides edge trim
frames @) using theElbow JointsM4(c) and secure with fouvl4x4 screwgm) on all cornersStep 2

F=—=0
2 1. 2
[ A;‘-a_ [ ;')
e ) i
4 Na——" N

Step12: Installtheangle cover(n) on each corner ahe frameas show in the illustration below

— , -
j -

Peeloff the doublesided tape.

0422021JA WWW.EpVSCcreens.com U-00225 6



http://www.epvscreens.com/

